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QUESTION BOOKLET

This question paper contains 200 questions. / 38 5% = T200 79 € |
All questions are compulsory. / T ad € | ‘
One question carries one mark only. / T U % feTT halet U 37 ¢ |

Total Marks : 200 3R 376 : 200
Time : 2 Hours g ; 2 "o
1.  The ratio of the primary to secondary voltage of a transformer is 2 : 1. The

saving in terms of weight of copper required if an autotransformer is used
instead of two winding transformer will be N
peil ¢ T fgefieren Sicedial =l AT 2 : 1 8 | SIet ofue o
gﬂw‘rﬂ‘(ﬁ 3UETT Af Teh SATICHBIN BT ITANT fohaT ST o o WR o qHI
AT S=d B
(A) 50% (B) 33.33% (C) 66.66% (D) 97%
Cooling of transformers is necessary to
A) Increase the efficiency. ' o
B) Dissipate the heat generated in the windings.
C) Reduce the losses.
D) Reduce humming.

~ ¢

ZTFhIHT ShT Sider 3T 3 -

(A) IR dT sigM % fere

(B) TUSHT | 39~ ST o {aailu o foTu

(C) B &l *H % & forw

(D) i (3TMaTsT) i A A &+ fetw

The all day efficiency of a transformer is the ratio of

A; kWh output and kWh input per day. éB)) kWh output and input in a day

C) Output power and input power. (D) Input power and output power.
T Teerfi gatar U
(A) kWh frfa aen kwh framr sfafer =61 (B)  kWh fta aen fawr wfafeq o1
(C) Torta wifers aen e wifea <1 (D) T wifer e frta wifed =1

For satisfactory parallel operation of two single phase transformers a
number of conditions are to be fulfilled. A number of conditions are written
below. Indicate which of these is not required to be fulfilled.
A) kVA ratings of the two transformers should be equal. _ '
B) Transformers should be properly connected with regard to their polarity.
C) Voltage ratings of the primary Wlndm%s should be suitable for supply slystem
voltage and frequency. The turn ratio of the transformers should be equal.
D) The pergentalg{g: impendence of the two transformers should be equal.

2 Tehed shell o HAISSeh FHTAR HATRIM o foIq 3ok 3rctt =l U LT Tl

& | A 3T 31 A1l < ST T © | SIaTgT foh i Tt 91 ol U7 BT STTawesh 18 & |

(A) < TEGEG i kVA e swer g = |

(B) TTHGIHT ST 3Teh! gaarai = fetgrs & wie J2ifed gr =nfzu |

(C) 3 JUTet dieear am TgRd & fofw wmerfies @uedt i deear de
IR BT ALY, | ZABIHL oh Bl T ITIHT THH BT (T |

(D) T CEBIERI T Yfcaren Yfasrd G0 g1 =y |
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5. A 400V, 50-Hz three phase induction motor rotates at 1440 rpm on full-
load. The motor is wound for

(A) 2-poles (B) 4-poles (C) 6-poles (D) 8-poles

T 400 V, 50-Hz T el ST HT 1440 rpm § 07 HR T GUid g | Ig HIK
@Ugl%‘lﬁ % :

(A) 2gEishfem (B) 4gaishfaw (C) 6ysishferm (D) 8 ydi= feru

6.  The relation between synchronous speed, stator supply frequency and stator
number of poles of a three phase induction motor is given by

ToRell T e SRUT HISX o qeashlicteh =Tet, TeX ATY(d ST qeT Y hi R
& o o9 99 ﬁHIjHI{%WW% :
(A) Ns=P/120f (B) f=120Ns/P (C) f=P.Ns/120 (D) Ns=120P/f

7.  Torque developed by a three phase, 400 V induction motor is 100 N-m. If
the applied voltage is reduced to 200 V, the developed torque will be

fopeft o9 shefr 400 V 50T H1eX % g fereférd <k 100 N-m @ | 3f¢ Sgert afieea
1 200 V deh A foran STu a1 foeriyd <ieh B

(A) SON-m  (B) 25N-m  (C) 200N-m (D) 62.5N-m

8.  For a three phase induction motor having rotor circuit resistance of 6 ohm,
maximum torque occurs at a slip of 0.6. The value of standstill rotor circuit
reactance is

Toret <1 e ST Hiet o foru fSent Tet aftmefia ufetier 6 ohm 2, AfeRdd 2
0.6 TeeTg R firerar 8 | TR srereen ) U gty < yfqerd 1 9= 8

(A) 4440hm (B) 036 ohm (C) 1ohm (D) 10 ohm

9.  The phenomenon of squirrel cage motors some time showing a tendency to
run at a very low speed is known as

(A) cogging (B) crawling (C) damping (D) skewing

ST Hicd 1 aftgeT st wfi-wvt Afd 3teq =1 § =1 8F i Jgia

(A) ST (B) iaferm (C) AaHed (D) whifam

10. A 5 H-hp, three phase, 400 V star connected squirrel cage induction motor
meant to drive a milling machine, at starting takes about

T 5 H-hp H setl 400 V &R TS TUsdt Seor Jret S fifert 7efie e
o s+t 8, 3T T T O A g

(A) 40 A (B) 100 A (C) 150 A (D) 200 A
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11.

12.

13.

14.

15.

The starting torque of an induction motor can be increased by
(A) increasing rotor reactance

(B) increasing the rotor resistance

(C) increasing the supply frequency

% g_mm supply through a star-delta starter

SRR 2leh ST ST FehdT &
(A) ﬁauﬁaﬁw
(B) Ut uierliy S@ret

(©) 33||§i%| EET
(D) icﬂ:{{%sm T % HIEH § JTYfd id §Y

The span for full-pitch coil wound for six poles is

(A) 180 degree mechanical (B) 90 degree mechanical

(C) 60 degree mechanical (D) 45 degree mechanical

: gai o TTT quf fU=r Ut AU I ol & - .
(A) 180°3fss  (B) 90°Ffs  (C) 60°dfes (D) 45° Jifaeh

The armature flux opposes the main field flux when load power factor is

(A) unity (B) zero- la ging (C) zero leadmg (D) 0.8 leading
TR, oo G hics Folad o Tferd TOTTeh & :
(A) TH1E (B) I@HUE  (C) sgaam (D) 0.8 3™

A commercial alternator has

(A) rotating armature and stationary field
(B) stationary armature and rotating field
(C) both armature and field rotating

(D) b both armature and field stationary
STk 3TTeetHe B BT 2

(A) TR 721 fer dleg

(B) 31|Hr4<?r%ﬂ Al lhlcrs

©) 3w-|tu aqT lblcrs c{l-ll

(D) TR a1 6l gl

In alternator damper windings are used to
(A) reduce eddy current loss

(B) prevent hunting

(C) make the rotor dynamically balanced
(D) reduce armature reaction

M | JTaHEH TUeH] 1 SN fehart Sirat 8
(A) 9 9T & HH T & foTv |

(B) &fem Ufera o7 o fo1u |

(C) T ! TATHS €Y W HfeTd hid o T |
(D) =R gfdafsran w0 % & fore |
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16. The magnitude of the resultant magnetic field produced by a three phase
current flowing through a three phase winding is equal
(A) the maximum value of flux due to any one phase
(B) 1.5 times the maximum value of flux due to any one phase
(C) half the value of maximum flux due to any one phase
(D) twice the maximum value of flux due to any one phase

TROTTHY EeTehla &3 b1 TIHTIT ST i hell Tued | JaTfed diF hell 9 | Icq—~
(A) el ot Ueh AT o R ST o SATIhad AH

(B) fereht oft Ueh Shetl o SHIUT Tt o SATeha™ T &1 1.5 THT

(C) Tereht ¥t Ueh AT o HRUT FoTed o JATIhaH HIH <1 JTE

(D) fereft oft weh ShetT o IO Tt o SATeha™ T 1 g1 T

17. Pitch factor for 5/6 short %it_t(':h coil %s
NUIED

5/6 e forr pugett o ferg

(A) 0.966 (B) 0.833 ©) 1.0 (D) 3.454
18. Armature Reaction in a electrical machine is the effect of :

(A) Armature flux on the main field flux

(B) Heat produced on the armature windings

(C) Armature current on the output

D) Armature flux on the output
%@ﬁﬁ?ﬁawﬁ?ﬁaﬁwuﬁ%mﬁmaﬂméz

(A) T hics FTod T STHR T I
(B) 3ATH=R o B W 39~ dTY 1

(C) Torta W 3= ey =t

(D) fid W AR Feted <

19. The speed regulation of a Synchronous motor is

(A) Unity (B) Zero

©) Inﬁnitx . (D) Always less than one

qeehTicTeh AT <h! =ITet =0T & .

(A) TH1E (B) I (C) 3Fa (D) SHIM T & A

20. The direction of the rotation of an ordinary shaded pole single phase
induction motor
(A) can be reversed by reversing the supply terminal connections to the
stator winding
(B) cannot be reversed
(C) can be reversed by open circuiting the shading rings
(D) can be reversed by short circuiting the shading rings
Teh FTERY BIfed Y Thed el ST HIel shi oo s
(A) 3TIf e SIS ol Wl AU § Jidad Hieh 3etel ST Fha & |
(B) &l 3l ST el |
(C) ifen e o et aiuYq & 37l I Hehelt 7 |
(D) fE | & o1 uftem & 3erdt S dehet! 8 |
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21. In a single phase repulsion motor, torque is developed on the rotor when the
brush axis is fixed
(A) at 90 degree electrical with the stator field axis
(B) 1n alignment with the stator field axis
(C) at an acute angle with the stator field axis
D) at 90 degree mechanical with the stator field axis
Tehod Shedl GrehyoT H1EX H 2ieh Ul T I foharm ST Eehal Sie 197 3787 fRR g -
(A) R hicg 378 o |1 90° faege |
(B) W hice 3181 o 919 TRaq |
(C) R hice 318 3 |1 =Y SV T |
(D) WX Hhies 3181 o @1 90° ATHe |

22. A D.C. series motor when connected across an A.C. supply will
(A) develop torque in the same direction
(B) not develop any torque
(C) draw dangerously high current
D) develop a pulsating torque

D.C. &9t At sl A.C. 3L & FAtd o ST @ af I8
(A) TuT feum d 2feh Scq= St |
(B) g Tfeh Icd &l it |
(C) 3I=9 9T I WAt &9 § Qi |
(D) Ueh Tafed 2feh 3ca— il |

23. The armature of a D.C. machine is made up of laminated sheets to
(A) Reduce hysteresis loss.
(B) Reduce eddy current loss.
(C) Reduce armature copper loss.
(D) Increase dissipation of heat from the armature surface.
D.C. 39 =T ATHTR, iHHeS 3ffe 1 91 graT & aTfeh
(A) feeefifim arfat =t o forar ST s |
(B) WX &R ET(1 < A TR ST T |
(C) ATH=R 9L ETT <1 W femam ST &b |

(D) IATH=R Tdg T ST o el ol 9gr=T 1 T |

24. The function of a brush and commutator arrangement in a d.c. motor
(A) to produce unidirectional torque.
(B) to produce unidirectional current in armature.
(C) to help in changing the direction of rotation of armature.
(D) to reduce sparking.
T d.c. A H S qAT HRIGS FTET T B g :
(A) TH e e I HET
(B) G Zieh e~ HLl
(C) =R < FuH <hl feum afadq 4 Tgrreh gH &1
(D) TR <! HH HL HI

7 Code No. : C-436/2017/Series-A
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25. The armature winding of a d.c. machine is made up of a number of coils
distributed in a large number of armature slots instead of placing all the
coils in two slots to .
A ﬁet sinusoidal emf at the output terminals.
B) have minimum heat dissipation from the armature.
C) make the armature dynamically balanced.
D) get the maximum generated emf in the armature.

d.c. TfH hl 3R U 3Teh HUSAal & S+ Il § SIl Tel T H TR
Tetled H forafid Biedt & 39 oy fop Tt pugforsi ol 1 Toiled § W 1, i -
(A) Trfa R = =ashia emf et o |
(B) STH=R ¥ %7 § ¥ o] fIalio= 2 |
(C) 3TTHTR ! TATHS &Y & Hgferd T@T ST |
(D) ATH=R T 3Tehad emf 3cd— &1 T |

26. The maximum permissible operating temperature of class-E insulating
material is

(A) 130 degree (13) 120 degree (C) 180 degree (D) 105 degree
FA-E faarent uered =1 siferehan 31z aiEne™ aumH & -
A) 130fssh (B) 120fsft (©) 180fs (D) 105feh

27. The number of parallel paths in the armature winding of a four pole wave
connected dc machine having 22 coil-sides is

w.ww?wwﬁﬁdcmﬁmﬁzzwmﬁ%aﬁmaﬁaﬁ
THTAR 9 <hl T ]

(A) 4 (B) 22 <) 2 (D) 11

28. The direction of rotation of a dc motor can be reversed o
(A) by reversing the connections of both the armature and the field winding

with the supply. _ _ o
(B) by reversing the connections of either the armature or the field winding
connection with the supply.
C) by reducing the field flux. . o
D) by introducing an extra resistance in the armature circuit.

dc TTeX < FUH <6t feuT i 3T ST AT 7
(A) IATH=R qAT Hleg U Hi ST < FTY TS i A H |
(B) 3ITH=R AT Hles iue 6 o 1Y ferelt o oft TS 1 Iete I |
(C) hics FoTad T |

(D) =R ufter o Sfefer Tfade et |

29. To have sparkless commutation the armature reaction effect in a d.c.
machine is neutralised by .
A) using comlll:)ensatmg windings and commutating poles. .
B) shifting the brush axis from the geometrical neutral axis to the
magnetic neutral axis. . . _
C) fixing the brush axis in alignment with the main pole axis.
D) increasing the field excitation.

o T d.c. TR H STH=R SIfifsRe T <l SETETeRtT fohall ST & -
(A) eFfdqieh Ul qT BRI gai b1 ST & |
(B) AT ITE 78T § Traiehial G 3781 9L 517 3787 ! f3ree o |
(C) T Y & W1 513 AL H TGV R H |
(D) $icg I S e |
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30.

31.

32.

33.

34.

3S.

36.

37.

Which type of motor is preferred for traction work ?

(A) D.C. series motor (B) Three phase induction motor
(C) Universal motor (D) Synchronous motor

SR 1 o fotu forg Tt <t Wit wHg I STt 2 7

(A) D.C. 2ivft Arex (B) Trerat 3ot Aiex

(C) IHaEa A (D) qeIshIfcTe AT

A solid angle is expressed in terms of

(A) radians (B) degrees (C) radian/metre (D) steradian
T HITTE IV <hl e TepdT ST .
(A) e (B) wdH (C) Ugmm/dex (D) wifgmd

The colour of sodium vapour discharge lamp is

(A) pink B) red (C) bluish (D) yellow
CL HITTE:

(A) TS (B) e (C) et (D) ditett

Glare is reduced by

(A) increasing lamp height. (B) using reflectors.

(C) using diffusers. (D) All of the above

TSI %1 Y TehaT SITAT & - .

(A) TP TS TG (B) TRIEehl T IUINT &L

(C) TETISI 1 ITART (D) SHIe |t

In induction heating which of the following is high ?
(A) Current (B) Voltage (C) Frequency (D) Power

T A A A A RIS A g ?

(A) HRT (B) ez (C) s (D) wfa
The electrodes used for direct resistance heating are made of

(A) mild steel (B) copper

(C) carbon (D) None of the above
SrREE Tferig AT o foTe S seiegie o g @ -

(A) 75 & (B)

(C) rEq (D) 3w 8 | g Tl

In which type of welding, current is passed through the metal pieces to be
joined ?
&A) arc (BQ TIG (Cz resistance (D) MIG

foh®l g <hi dfceT T Sl ST dTelt 4Tq US| ¥ 9T JaTfed i ATl & ?
(A) 3Th (B) TIG (C) wfa (D) MIG
In transmission line sag depends upon
(A) conductor material (B) length of span
(C)_the tension in conductor (D) All of the above
STETYE oTeH T 8 (3ieT) fR hear 8
(A) =TeTeh 9e1e T (B) faggfa <l s W
(C) =Tetsh B a1 W (D)
9 Code No. : C-436/2017/Series-A
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38. Electroplating is the process of
(A) removing one metal from the other.
(B) covering superior metal over the inferior metal.
(C) refining of metals

D) All of the above
BIERI

2
A) T 97q ¥ 8L i U i
EB)) ﬁmqw@ﬂa%ﬁmma@wmaﬂﬁﬁ

(C) 9Tt & e
(D) ?%zwmﬁ
39. Which of the following motor is used in household refrigerators ?
(A) A.C. series motor (B) D.C shunt motor
©) B\eluctgnqe‘:\ motor (D) Single phase induction motor
e hoiedl § (1 § | S i At S sl § 7
(A) A.C. 2uft At (B) D.C 3¢ AIX
(C) TeTere—a Aiet (D) Tshet Shefl I [T
40. Voltage regulators are used to the voltage.
(A) increase (B) stabilize
(Q) de(gr;:as¢ - (D) None of the above
Sleedl Heent o1 TR foha STdT &, el o foq |
(A) Fem B) f@rRwE
(C) M (D) I H ¥ IS Tal

41. The direct current system employed for tramways operates on

e | We fese T YuTTef! qicatord gt & -
(A) 3000V (B) 1500V (C) 750V (D) 440V

42. Low frequency operation of overhead line in traction system
(A) reduces the spacing between substation.
(B) increases the spacing between substation.
(C) All of the above.
(D) None of the above.
S T H RN 13 31 1 31maf e -
(A) FE-TIMI % 9E7 A EAT ¢ |
(B) T9-T¥M] % WA 3T 9T & |

(@) ;cgaaaﬁ ’
(D) ¥ @ g &
43. In electrolytic process, the electrical energy is converted into
(A) mechanical energy (B) heat energy
C) chemical energy . (D) None of the above
—3qEreHT Iisha § fagdia o1l ol €A BlA1 g :
(A) TS (B) swawid
(C) TEH ot o (D) S H ¥ IS Tal
Code No. : C-436/2017/Series-A 10
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44.

45.

46.

47.

48.

49.

50.

S1.

Ajax wyatt furnace is started when

(A) filled below core level. (B) fully filled.

(C) filled above core level. (D) All of the above
Ajax wyatt Wg! ds IR Y ATt B 57

(A) BREAY A= T g7 | (B) i W & |

(C) HREX & FR A | (D) e ot

The output of full wave rectifier contains

(A) only even harmonics (B) only odd harmonics
(C) both odd & even harmonics (D) no harmonics

ot T YRR < ot 3 grelm

(A) hael TH gTHIEH (B) haet fersm gri{ere

(C) Torm aen & 31 i (D) IS g Tl

Which of the following has negative temperature co-efficient ?

(A) electrolyte (B) brass (C) silver (D) mercury
for1 & & feherehT Foreweh A19 7oTieh r
(A) Toga-3meed (B) daa (C) =gt (D) 9w

A wire of resistance R has its length and area of cross-section doubled, its
resistance becomes

Teh R UTeRIY ST AR 3Heh! TS qAT H1e Ufceeig i FAbe 8 GRAT L fem S
2 | 3HehT gfchiY B STe -

(A) R (B) R/4 (C) 2R (D) 4R
The unit of retentivity is

(A) ampere-turn (B) weber

(C) ampere turns/meter (D) weber/metersquare
YTTIAT 1 S5 &

(A) THRR-HY (B) 9=

(C) THARR Wt /HeX (D) sEyHRE

Which material has least specific resistance ?

(A) Mercury (B) Zinc (C) Copper (D) Lead
fopar qerel =1 forfirse sfodia ge@r v 2 7

(A) I/ (B) = (C) &R (D) ©E

In an a.c. circuit, M.I. meters measure

(A) meanvalue (B) peakvalue (C) r.m.svalue (D) average value
fordlt a.c. aftgyr & MLI. Hiet A9 LT &

(A) T HH (B) @a=gdAH  (C) rms¥E (D) 3Hd UM
Economisers are used to heat

(A) air (B) steam (C) feed water (D) None
T TN TH s foran SITan
(A) a7 (B) ot (C) Fedix (D) T
11 Code No. : C-436/2017/Series-A

https://snowstudy.in



52. A coil has 1000 turns and current of 8 amp. causes a flux of 5 milli-weber to
it. The inductance of coil will be
Q%Wﬁ IOOOﬁ%%H?ﬂ 8 TAfRR <hl a0 & 5 Tielt 9ev o1 Tl SEH 39
L & | HUSTT I
(A) 1.0H (B) 1.25H (C) 1.5H (D) 2.0H
53. Internal resistance of dry cell is
BT A I AT T & :
(A) 1-150hm  (B) 2-5ohm (C) 1-1.50hm (D) 0.2-0.4 ohm
54. Power factor of incandescent lamp is

(A) zero (B) unity (C) 0.8lagging (D) 0.8 leading
FThSIYE (ATIGHL) <IFT <hT STTa TOTT &
(A) I (B) 1§ (C) 0.89%9 (D) 0.8 3
55. Bronze is an alloy of
(A) copper and zinc (B) copper, zinc & tin
©) cop%?r and tin (D) None
Ha1 T fraeng |
(A) HIOR AT b T (B) R, 5 aur fea =t
(C) IR ayr fea (D) s TEi
56. Suitable turbine used for harnessing tidal power is
(A) Francis turbine (B) Pelton wheel
(C) Kaplan turbine (D) None
SR 1o Sl T8 of H Tad ST TS @ -
(A) WHITEE eTETeH (B) Uced &
(C) A TS (D) Ig &l
57. Advantage of hydropower over thermal power is
(A) low initial cost (B) low operating cost
(C) continuous power (D) None
1Y ek <hl 3TUETT STl 1T o1 ATH 2 -
(A) = 3mfrs @ (B) = ufmem @mma
(C) Had i (D) oI5 &l
58. Impedance relay can be used for
(A) earth fault (B) phase fault only
(C) both earth & phase fault (D) None
?Era% feheIT T \ehall &
(A) tr%aﬁwés%q (B) et Shedl UM o I

(C) Tt Y1 AT Hell $ SHi % e (D) H1S A8

59. For energy efficient motors, which of the following is correct ?

(A) Use more power (B) Use low quality material
(C) High reliability (D) Less cost
S ¢ Hiell b e e s T &gt &
(A) ATk S1ferd =BT ITANT BT (B) Tt Torer @t ST ST B
(C) 3= favaataar (D) f= wrma
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60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

One of the main application of magneto-resistor

A; rectification ng field compensation

C)_ voltage regulation D) power amplification
et 1 O e :

(A) Wl o (B) s afeafd 3

(C) dieeal FrEm d (D) wifed Jaeq o

Input impedance of an ideal Op-Ampi1s _
(A) finite (B) zero (C) infinite (D) unity
Th Op-Amp 1 At afeanen & .

(A) fHfea (B) IR () 3d (D) 373
In transistor with normal bias, the emitter junction

A) has high resistance B) reverse biased

EQ has low resistance D) None

FrHet STITYd ZTioet § Scesish Gier gt

(A) 3= gfcreft (B) wicrard s

(C) T aferiet (D) IS &l

For the binary number 11101000, the equivalent hexadecimal number is

AT F&AT 11101000 61 FHIE gFaTe HHe 98T 8

(A) F9 (B) F8 ©

In 2’s compliment form, -2 is

2% IRHEIH -2 8

(A) 1011 (B) 1110 ©)

The most commonly used logic family is

T AT TR SATTTh @‘%ﬁ?ﬁ%

(A) ECL (B) TTL ©)

ALE stands for

EA; address latch enable ng
C) address latch enter D

ALE 1 399 7

(A) SEASES (B)

(C) TgH T T (D)

The number of gates in an SCR 1s

SCR ¥ gR i & &

(A) 2 B) 3 (©)

A relaxation oscillator uses

g; tunnel diode gB;
C). both tunnel diode and UJT D

qifers U S 8IdT o

(A) I SIS . (B)

(C) 2a S8 a4t UJT gt (D)

In overhead lines, we generally use

iA; copper condenser %B;
C) aluminium conductor D

1 H gH AT Yo hid & :
(A) g (B)
©) EINED (D)

13

E9 (D) E8
1100 (D) 1010
CMOS (D) PMOS

accumulator latch enter
None of the above

RIS A Tel
s:i\%om T ¥ g Tg1

4 (D) 6

uJT
PIN diode

UIT
PIN SRS

ACSR conductor
None of the above

ACSR HTeteh

3wderd | | IS T&
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70.

71.

72.

73.

74.

75.

76.

The electric power can be transmitted by

(A) overhead system
C) either (A) or (B)
g

1G0T Th3T ST Fehdl 2

(A) Tl feren @
(C) 3T (A) et (B) &

(B) underground system
(D) None of the above

(B) ftrTa Somett |
(D) & Ig A&l

Which variety of copper has the best conductivity ?

(A) Pure annealed copper
(C) Induction hardened copper

ary <h! ford IObH-I $ T ATeAhdl
(A) 3G 3T dH

(C) U1 Ha3Kid amH

Basic ceramic material is

(A) Limestone %(B) Clay

(A) HHTR  (B) H

(B) Hard drawn copper

(I%)) Copper containing silicon
)

(B) h3R gH

(D) |H|cf|ob|gcrd GIE

(C) Cellulose

(C) Hege™

(D) Sand

(D) =T

Which of the following insulating materials has the highest safe working

temperature ?
(B) Bakelite

(C) Mica (D) Empire cloth

%n:)’ Polythene
I g1 Ul vered 3= gferg sl aomH w@ar e ?

(A) Uit (B)
Thermocouple works on

(A) Thomson Effect

(C_) Peltier Effect

TR 6T HLdT &

(A) YTHEH J9TE W

(C) Ufeek 9@ W

In a commutator

(A) Copper is harder than mica

(C) HIEH (D) TR AT

(B) Seebeck Effect
(D) Joule Effect

(B) Hieeh 9T W
(D) St 99T W

(B) Mica and copper are equally harder

(C) Mica is harder than copper
%D) None 0% the above

(A) TTH HTShI H I BT § |

(B) HTEhI AT ATH AT h3AT o B1d & |

(C) HTEhT TTH H I BT 2 |

(D) 3Ue U & s A&l

An electric boiler draws 12 A at 115 V for a period of 6 hours. If the electrical
ener y costs 30 paisa per kWh, then cost of boiler operation in ¥ is

e 115 Vas:

a%eﬁsqaﬁ:%%q 12 A <1 ? | =fe fergd 31 30

ﬁﬁuﬁkWhWt@Fﬁ%?ﬁ IR IR sl AT (2 H) B

(A) 8.284 (B) 3.482
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77.

78.

79.

80.

81.

82.

83.

A 100 W, 250 V bulb is put in series with a 40 W, 250 V bulb across 500 V
supply. The total resistance offered by both the bulbs in the circuit in ohm 1s
T 100 W, 250 V 1 sed 30t § 40 W, 250 V & & o 919 500 V 3fd §
TG T 2 | IR § g1 Soal o g Sqd $el Jiad ST T 3 -

(A) 218.75 (B) 318.75 (C) 3187.5 (D) 2187.5

When a source is delivering maximum power to the load, the efficiency will be
(A) Maximum (B) Below 50% (C) Above 50% (D) 50%

T IS HId R W Tfrehan w1k < T&1 &1 o gaaT gt -

(A) AfUHa (B) 50% HAE (C) 50%FHR (D) 50%

A 12 V lead acid battery used in a car contains
(A) 10 cells connected in series (B) 10 cells connected in parallel

(C) 6 cells connected in Earallel (D) 6 cells connected in series

T HUH TH 12 V A T S A8 2 - o
(A) 103 207t § g (B) 10 &< HHIO H TG
(C) 6 Tt THTaR | TfTq (D) 6T vt ¥ TS

The force per metre length between two conductors 0.05 m apart carrying
1000 A and 5000 A is . .

. S 0.05 m ¥ 9 g W2 a1 1000 A T 5000 A hi 91T I8 L 5
& o ALY Ui Hiel TS 9 & -

(A) 20N (B) 5N (C) 50N (D) 25N

What will be the current passing through the ring shaped air cored coil when
the number of turns is 800 and ampere-turns are 3200 ? ) )
&1 TR <1 A1y i@ FUSeh § & W h1 F&AT 800 T TR i hl T
3200 2 1 38 Yarted ar fohaet grft ?

(A) 0.25 (B) 2.5 (C) 4.0 (D) 04

In R-L-C series circuit at resonant frequency, the voltage across the
resistance is

(A) Much lower than applied voltage

(B) Equal to the applied voltage

(C) Much higher than applied voltage

(D) Function of the value of inductance .

Th R-L-C 2vft gfmer | 34:;j|i2;<1 IR W Y % o W aieedn g -
(A) TS T8 dicedl H HTH! HH

(B) TS TS leedl & sRIET

(C) TS T dicedl ¥ Il 3Afereh

(D) Yehcd o T ol Hetd

An alternating voltage of (160+7120)V is applied to a circuit and the current
in the circuit is given by (6+j8)A. The value of the circuit impedance in ohm
is given by
Teh Jeamad dieedr (160+120)V forel uftay o wnmg 78 & qen uiwy o am
(6+8)A & | 3T H TRYY JSTLT <1 T B
(A) 192956 (B) 19.2+5.6 (C) 1664128 (D) 154112
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84. A resistor R in series with a capacitor C is connected to a 50 Hz, 240 V
supply. The resistor absorbs 300 W at 100 V. The voltage across the
capacitor 1s

et 50 Hz, 240 V 3T9f{d & T Wialig R T 9417 C & a1y it § Faiia
forar e @ | afeme 100 V IR 300 W SNiNd st 2 | S o f& W dieean & ¢
(A) 118.17V  (B) 318.17V  (C) 218.17V (D) 418.17V

85. An alternating current is represented by i=70.7 sin 520t. Then the value of
frequency in Hz is

T AT 9 i=70.7 sin 520t ¥ €A T8 § | 99 SR I AH Hz § 8
(A) 73 (B) 93 (C) 53 (D) 83
86. The eddy current power loss in a rgiénetic material can be expressed as

Tonelt Iraehia UgT § Yo 9T 1fed g1 e shi 511 Fehell & -
(A) P.=ke B2t} 2V watt (B) P.=ke B, 2tf?V watt
(C) Pe=ke Bt’fV? watt (D) P.= ke B, t’?V? watt

87. A battery of 50 cells in series is charged through a resistance of 4 ohm from
a 230 V supply. If the terminal voltage per cell is 2 V and 2.7 V respectively
at the beginning and at the end of the charge. The charging current at the
beginning is given by

T 50 i T 9 P 4 AW % TfaUg 7w § 230 V A |
Jmafsra fopam | Ui Ot & Rl WX 3TAYE o S qUT 37d § dieedl shAST:
2VAAT2.7 V8 | G8 3T | JTEYH 91/ 1 HH &1
(A) 225A (B) 125A (C) 325A (D) 185A

88. The power in the wind Py, through a given cross-sectional area for a uniform
wind velocity V is
Tordft T TR h1e-ufi=ae &F%et U BloRt Tortl ThTHM Tad 9T V o fiw e |
sifed P, BRI
(A) P,=KV* (B) P,=KV?* (C) P,=KV (D) Py, =KV*

89. Which of the following statement is correct ?

(A) Arc in a circuit breaker is interrupted at maximum current.

(B) Arc in a circuit breaker is interrupted at maximum voltage.

(C) Arc in a circuit breaker is interrupted at zero current.

%‘I_)I:)’ Arc in a circuit breaker is interrupted at minimum voltage.

I I HoH TE 8 ?

(A) Toret aftaer foisies | 31Tk STfeehaw g TR STTYd 2 & |

(B) et uftmer ferisie 1 31meh 31fershad aieed WX aTfed i & |

(C) Torell aitaer foriisTeh H 3TTeh Y[ 9T 9L SIT1d Bid1 2 |

%?g fopeft aftay foerstes o 31Tk STcuay dlcedn 9L STfad giam & |

lich of the following circuit breaker has high reliability and minimum
maintenance ?
A) Oll circuit breaker B) Air-blast circuit breaker
C) SF6 circuit breaker D) Vacuum circuit breaker

giay foriiere o 3= fovaaiarar auT 0 & H @@ g1 § ?

90.

(A) 3T ufy foeis (B) TER-TE ARy faRiiorh
(C) SF6 uftuy feristen (D) Trata ufme ferieres
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91.

92.

93.

9.

9s.

96.

97.

98.

The differential relaying system respond to
A) Internal fault EB) External fault
C)_ Over-voltage fault D) Under current fault
Tt Tt STerh 2

(A) 3TraRes 2y ¥ forg (B) @&l g o fore
(C) 3fa-dieear gy o forg (D) 379 9T g = fetu
To protect the power transformer (delta-star) against internal faults the
current transformer will have
EA) Delta-delta connections EB) Delta-star connections
C) Star-star connections D) Star-delta connections _

Wgﬂﬁﬁ\? (%v;l\—(-c‘.l() ! AR ‘qﬁﬁrﬁaﬂﬁ%%@w‘{r&wﬁtﬁ
(A) Scdi-gedl "IISH (B) Scdl-HR GISH

(C) WR-WR TIASH (D) WR-geel TASH

For a 400 kV line the spacing between phase conductors is around :
ToREt 400 KV TS o ToTU SheAT-<ITeTohl o AT 37U THTHT &

(A) 8m (B) 11m (C) 14m (D) 17m
Bundle conductors are used to

A) Reduce inductance of the line

B; Reduce both inductance and capacitance

C) Reduce corona loss o
D) Reduce corona loss and the line inductance

ol ATeTehi oh1 ITANT TohaT STl & :

(A) g 1 Sehed HH i o foIg

(B) Uehed aUT LTRAT T W i o e

(C) hITAT BT o1 i o fetu

(D) RITHT BT T TS Iehed S LA o oIy

The power factor of a system on a 460 V, 3 phase, 60 Hz, in which the
ammeter indicates 10 V and the wattmeter reads 62 kW will be

460 V, 3 ell, 60 Hz, & W wiex 10 V gied HLaT & a1 dedied g
62 kW Bl 9t fereft oTreht 31 SIfer T[oTreh I

(A) 0.95 (B) 0.78 (C) 0.85 (D) 0.72

Which of the following protects the underground cables against mechanical injury ?

(A) Bedding (B) Sheath (C) Armorin (D) None of these
Tk &1l & YRR et wm%ﬁﬁﬂﬁ?wwél’“ 2 7

(A) 3fem (B) i (C) smfer (D) T & A
The thermal efficiency of a steam power station is
ST UTeR T 6t aTfRT gardT B

(A) 18% -20% (B) 25%-30% (C) 40%-50% (D) 15%-20%
Which of the following is not a secondary source of energy ?

A) Solar power station EB) Diesel power station
C) Nuclear power station D) Thermal power station

1 T fediaesh S giq 7gi 8 7

(A) GR 9 ©IH (B) EIeie VI QM
(C) iirhi wrferd =M (D) i wifed =
17 Code No. : C-436/2017/Series-A
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99. Pelton wheel is which type of turbine ?

(A) Reaction turbine (B) Impulse turbine
©) Both (A) & (B) (D) None of these
l‘i('d"l °8|Q’I |°h{‘| H%I{Eﬁ [ACIED

(A) Sfafsran stamg (B) 3o LTS
(C) (A)d (B) gl (D) =IE &

100. A generating station has a maximum demand of 35,500 kW and has
connected load of 6500 kW. The number of units generates are annually
25.6 x 107. The demand factor is
Torel 3cuTed o <1 Afshad [T 35,500 kW & a1 I8 6500 kW & ¥R ¥
Tor & | afiieh SeaTfed SehTeait bl TEAT 25.6 x 107 ¥, A Wi there &I

(A) 0.646 (B) 0.746 (C) 0.546 (D) 0.436
101. The principle of dynamically induced emf is utilized in :

(A) Transformer (B) Choke

(C) Generator (D) Thermocouple

TeATeHeh SR 19,9197, o1 fHgTa ST | STar & -

(A) aw;mhﬁ (B) =% H

(C) (D)
102. Which of the following is not a part of DC machine ?

(A) Armature (B) Commutator

%ﬂ; Field winding (D) Damping winding

F 1 T DC T o feeen T 7 7
(A) HT (B) HEEH
(C) hics aUeA (D) 37U AU

103. A 4 pole generator with 16 coils has a two layer lap winding, the pole pitch
is
%% 4-ga ST Teeh |19 16 HiveT 8 H Tk I 8 hl olds TUed 7, I6hl ¥d U=

(A) 32 (B) 16 (C) 8 (D) 4

104. The current drawn by a 120 V DC motor with back emf of 110 V and
armature resistance of 0.04 ohms is
Th 120 V DC HIcX & gRT @t 9 arefl o, foreest 9v= fo.arg. 110 V den
=R gfeier 0.04 MM &L, B

(A) 4A (B) 25A (C) 275A (D) 300 A

105. The output indicated on the name plate of any motor is alwa s the
; Gross power gB Power drawn in
C)_Power drawn in kW _ Qutput power at the shaft
AT g W 3Aferd i H

(A) P Ifed (B) kVA ¥ wifda

(®) kwﬁ}zrf%ﬁ (D) % R fia wifea
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106. When voltage is transformed from primary to secondary then it is

(A) Multiplied by K2 (B)_ Multiplied by K

(C) Divided by K* _ ~ (D) Divided by K

EER] g T Fleedl AR shl JTdt g a1 I8

(A) KZQ%W%I (B) KA UM A 2 |
(C) K9 HI AR | (D) K & fafoa S st 2 |

107. At 50 Hz operation a single phase transformer has hysteresis loss 200 W and
eddy current loss of 100 W. Its core loss at 60 Hz frequency operation will
be :

50 Hz RIS W2 U Uehel el GIEhiAL shi feeRied g1 200 W e 9o am
B 100 W g | 391 60 Hz TSI TTETeH W I &I gl

(A) 432 W (B) 408 W (C) 384 W (D) 360 W
108. A three phase induction motor with rotor circuit open will
(A) Not run (B) Run normally
(C) Get overheated (D) Make noise
et T STedt Teh THehedT ST HIeT
(A) =it T8 | (B) TMI &Y H T |
(C) Afeariya & st | (D) 3TeTsl it |

109. A three phase 6 pole, 50 Hz induction motor is running at 5% slip. What is
the speed of the motor ?
Teh et 6 ¢, 50 Hz SRUT 112X 5% TUv W Il @ & | Hiet sl =1et =11 grft 7
(A) 850 rpm (B) 900 rpm (C) 950 rpm (D) 1000 rpm

110. The starting torque of an induction motor varies as :

Toreft ST HYe w1 SRR 2feh e & Ty ufed 2
(A) f (B) 1/f (C) 1f (D)

111. The two bright and one dark lamp method is used for
(A) determination of phase sequence
(B) synchronizing of three phase alternators
(C) synchronizing of single phase alternators
D) transfer of load
%WWQ% Teh 1P Tgfdl ol ST fohal ST & -
(A) e TR g .
(B) et ScTadiehl o qeashle H
(C) ThoT AT ST o JodshleH H
(D) WR-THTROT |

112. Capacitor start capacitor run motors are used in
(A) hoists ~ (B) rolling mills (C) mining (D) refrigerator
YT STREHH GG ST Aied 3] SUAT fohaT ST & - o
(A) BERH (B) UM faard (C) @+ H (D) UMhoReT A
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113. Which part of transformer is subjected to maximum heating ?

(A) Frame (B) Core (C) Winding (D) Oil

STERTHL BT shi9 ©T T 31freham aTu= o T&aT 8 2

(A) WH (B) #R (C) U (D) 3T
114. Open circuit test in a transformer is performed with

(A) Rated transformer voltage (B) Rated transformer current

(C) Direct current (D) High frequency supply

SREARTE H T TR Tieor fehem ST @ -
(A) s gww—u aleedl & a1 (B) oS TEHIHT &R o |1
(C) fese um & @ (D) 3= IR 3L A1

115. The current from the stator of an alternator is taken out to the external load
circuit through

(A) Slip ring (B) Commutator segments
(C) Solid connections (D) Carbon brushes
fepell STTeetel o Ret § UT STet STel WR-afw | off STft 7
(A) ol o1 & qream g (B) SR TTHCH < HIEH
(C) 3 THISHI o H1eaw o (D) HTe ST 3 HTEA o
116. In rotor resistance control method, with the increase in speed.
(A) Torque increase (B) Torque decreases
(C) Slip increase (D) Losses increase
ierre e agh 4 wite s & w1y
(A) 2heea® | (B) eh A AL |
(C) HdUI 9T g | (D) BT S 2 |

117. The stator winding of a single phase induction motor is splitted into two
parts in order to

(A) Improve efficiency (B) Improve power factor
(C) Develop startmg torque (D) Increase speed
Toreft Tehal el SRUT HIeX 6l WX U Wﬁﬁ%ﬂaﬁ@?ﬁ%mrﬁﬁ
(A) T&IAT 3~1d & | (B) SA & |
(C) IRk 2ieh ferepfira 2t | (D) ngs

118. The cheapest system of interval wiring is wiring.
(A) Cleat (B) Casing-Capping
(C) CTSorTRS (D) Conduit
AT AT hl T Tl Jomed! I3 |
(A) Tl ~ (B) hibm—shium
(C) CTSITRS (D) hi<gJe
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119.

120.

121.

122.

123.

124.

125.

126.

The rating of fuse wire is always expressed in

(A) Volts (B) Amperes

(C) Ampere-Volts (D) Ampere hour

IS AR Shl T HRIT S <hi ST B ,

(A) diegEd (B) wefERd

(C) wEfeR-dieed | (D) TR I

The earth potential is taken as

(A) Zero (B) That of supply

(C) Infinite (D) None of these

gt 1 fawa THT ST & .

(A) 3 (B) 3myfd for S

(C) ¥a (D) ¥ & S el

Which of the following will serve as a donor impurity in silicon ?
(A) Boron ~ (B) Indium (C) Germanium (D) Antimony

e I &) faferehie o ST 3Tl <l THE SR ! 2 7

(A) SR (B) sfem (C) Hfrm (D) T

Without a dc source a clipper acts like as
A) Clamper (B) Chopper (C) Rectifier (D) Demodulator
dc F1d o Teh fFeTdX SHg8R i
(A) FATR HI TE (B) =R H &
(C) WABRR Hl W& (D) ferigeict i TE

For germanium P-N junction the maximum value of barrier potential is

SHIA P-N @Y & foru sfer favwe =1 sAfesar a9 8

(A) 03V (B) 07V ) 13V (D) 1.7V
2’s compliment of the number of 1010101 1s
FEAT 1010101 o TeTT 2 T ST &

(A) 0101010  (B) 0101011  (C) 1101010 (D) 1110011

An XOR gate produces output only when two inputs are

(A) High B) Low (C) Different (D) Equal
WXORWﬁﬁ%ﬂéﬂTWﬁﬁéﬂ@

(A) 3= (B) = (C) T (D) &

The 1’1(1\1{1’1];)61‘ of flip-flops reqlrl\ired in a decade counter
ferelt fgohe HTereX B 3w fheu-Taiid <hl 9T 8
(A) 2 (B) 3 C) 4 (D) 10
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127. A 1 mA ammeter has a resistance as 100 Q. It is to be converted toa 1 A
ammeter. The value of shunt resistance is

fore 1 mA e ufeigr 100 Q 8 1 38 1 A THIT T SieoT BidT 8 | 31 faue
HIOH 8
(A) 0.001Q (B) 0.1001Q (C) 100000Q (D) 100 Q

128. The difference between the indicating value and the true value of a quantity
is
(A) Gross error (B) Absolute error
(C) Dynamic error (D) Relative error

Tereht TfST o aTedfares W qe FEfad 9 H 37X 8T 8
(A) e afle  (B) Fwaafe  (€) nfmmFfe (D) Il

129. Which one of the following meters is an integrating type instruments ?
(A) Ammeter (B) Voltmeter (C) Wattmeter (D) Energymeter
T =19 91 Hiet teh gqTeher ! TR hT 3R & 7

(A) THIX (B) dieeHIeX (C) areHiX (D) St WX

130. A thermocouple ammeter give full scale deflection at 10 A. When the meter
reads one fifth of the scale, the current will be

Th YHIRTA THI 10 A T Y01 Whel fI&1T0T <l & | 8 Hiex 9 o1 ur=ar few

ST ITGAT ¢ Al arRT Bt

(A) 2A (B) 4A (C) 447 A (D) 578 A
131. Which bridge is used to determine frequency ?

(A) Anderson bridge (B) De-sauty bridge

(C) Wein bridge (D) Campbell bridge

3G AT S 39 TG HT 30 &Il &

(A) USWH g (B) fe-ur=dl &g

(C) I &g (D) HmEd A

132. A digital voltmeter has a read-out range from 0 to 9999. When full scale
reading is 9.999 V, the resolution of the full scale reading is
T fefSieat dieeHiet # 0 & 9999 ™ G UIgITh &, & qU1 Thel 91 9.999 V
8 T U1 Thel UTGATh i TaveH &
(A) 0.001 (B) 1000 (C) 3 digit (D) 1 mV
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133. In rotating electrical machines, the insulation temperature limit for class B

type is
oot foregdf ™ #efiAi # B-9eATd YehR oh foIq T aTashd €T 8
(A) 105°C (B) 130°C (C) 150°C (D) 180°C

134. For arc heating, the electrodes used are made up of :
(A) Copper (B) Graphite (C) Tungsten (D) Aluminium
3Teh—dTTH o ToTT TR Soierdle & 8ld & -
(A) qHH (B) UBEC®H  (C) IA® (D) TImFm®

135. In electric welding major personal hazards are
(A) Welds spatter
(B) Flying sparks
(C) Harmful infrared and ultraviolet rays from arc
(D) All of the above
ferea deed | Y@ Afaara @adl aidl o

(A) 98 T
(B) TATST TThi <
(C) 31Tk 61 BTIhReh e qgT YT fohor
(D) I9rerd Teft
136. Which of the following need the highest level of illumination ?
(A) Living room (B) Kitchen
(C) Proofreading (D) Hospital wards
71 1§ 9 Top®t S=aw T T TG 79I BIT & 7
(A) FATETH e (B) @3
(C) I Gfem (D) 3TIATA a1
137. Long distance railways operated on
(A) 600V dc (B) 25 kV single-phase AC
(C) 25kV three-phase AC (D) 15kV three-phase AC
N IRNEIRG RS (CIKEACRIISIGINE
(A) 600V dc# (B) 25kV Tshd &l ACH
(C) 25kV Bpem ACH (D) 15kV Beem ACH
138. The speed time curve for urban service has no
(A) Coasting time (B) Free running period
(C) Braking p\eriod . (D) Acceleration period
I TSI o TeT¢ TS 57 a5 | IS ‘
(A) HITEST 2TZH &1 Bl | (B) hY T hret & et |
(C) sifehm srafyr 7€ Bt | (D) a1 T &I BT |
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139. Total flux required in any lighting scheme depends inversely on

(A) Surface area (B) Ilumination
C) Coefﬁ01ent of utilization (];)% Space height ratio
Aen Rl eJI\B‘I"II ﬁ 3R h hod l-I'C’I*’l’{‘l °|’>{('||

A) Tdg ST b TIdAHEId J B) W& & fqeA™IdTd |
gC)) Wﬁmiull%%uldm;i—lquldﬁ ED)) TIH-34T 31UTd o YfqetmTara 4

140. The least expensive drive is
(A) Beltdrive (B) Ropedrive (C) Chaindrive (D) Gear drive
%A H HF Il 90 &
(A) Seegd  (B) WagRd () Wy (D) frgmd

141. The Lingaraja temple built during the medieval period is at

(A) Madurai (B) Khajuraho
(C) Bhubneshwar (D) Mount Abu
7e et 1 frfifa formrs afex 2

(A) FgUs | (B) @YURIH  (C) YavaRHA (D) W< JEH

142. What was the capital of Kanishka ?

(A) Pataliputra (B) Mathura (C) Taxila (D) Purushapur
h[-Teh <hl TSeTHT T off 7
(A) wefag  (B) wYT (C) e (D) TR
143. The ‘Manu Smriti’ mainly deals with
(A) Laws (B) Politics (C) Economics (D) None of these
T ® 9 H
(A) % 91 (B) TSI % |1
(ORCEREERIS (D) ¥ & % Tl
144. Who were the first Europeans to set-up sea trade centres in India ?
(A) The Dutch (B) The English
(C) The French (D The Portuguese
YRA § G5 SR heg, TATUA i Tl T8 {ﬁiﬂtr %
(A) =9 (B) 3
(C) ThrEtEt (D) YeTTett
145. Who was associated with Ryotwari Settlement of Madras ?
(A) Metcalfe (B) Munro (C) Elphinstone (D) None of these

Ty <h! IR S o H1Y i TEed o7 ?
(A) HHE (B) ¥W (C) ToH=H (D) I8 &l

146. Pir Panjal Range in the Himalayas is a part of

(A) Lesser Himalaya (B) Shivalik

(C) Trans Himalaya (D) None of these

fEaTer™ § 1T Uit IS0 Ueh 9T &

(A) o fauter™ &t (B) TRranferss =

(C) gid fewrer =i (D) H & % T
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147. Which one of the following lakes in India has the highest water salinity ?

(A) Dal (B) Wular (C) Chilka (D) Sambhar

a4 f= 0 3 fore 2l Y 3w <ict STauran 8 7

(A) & (B) TN (C) facwi (D) €
148. ‘Sal’ treeis a

(A) dry deciduous tree (B) moist deciduous tree

(C) tropical evergreen tree (D) tropical semi evergreen tree

T 947 8 T

(A) I Uil & (B) 37T wofaTelt g7

(C) IWTh{CaHT TEoER 98 (D) 3IwThicad ™ 374 TEToER 9§
149. The term ‘Regur’ used to mean

(A) red soil (B) black cotton soil

(C) laterite soil (D) None of these

TR 976G 1 AT fohd 37ef 4 fopam ST 8 7

(A) ST el (B) hTcil ShUTE! el

(C) ATz e (D) @ﬁﬁaﬁéﬁ
150. The highest wheat producing state of India is

(A) Uttar Pradesh (B) Punjab

(C) Maharashtra (D) Tamil Nadu

W T T g Ic1Geh ST &

(A) ITWI (B) WS

(C) wHemrsg (D) g

151. Which of the following was the biggest source of the Constitution of India ?
(A) The Government of India Act, 1935
(B) American Constitution
(C) British Constitution
(D) Canadian Constitution

1 9 | R R % |iI9H 1 T9Y 51 91 @ 7
(A) & ern= a1t sfean use, 1935 (B) Imifteha afaam
(C) fafew afqum (D) TSI Gige™
152. Which country accepted the policy of Dual Citizenship ?
(A) USA (B) Australia (C) India (D) None of these
fopa a1 3 gt TmTihan B ifa o T fpan 2 2

(A) JuaT (B) g  (C) wrd (D) ¥ | 1S Tl
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153. Which of the following is the guardian of Fundamental Right ?
g\A) Judlclary (B) Legislature (C) Executive (D) Press
1 T & I JoI9d 31U ol ITeTeh & ?

(A) =R (B) famfeer  (C) R (D) &

154. Who was the Prime Minister of India when the Anti-Defection Bill was

passed ?

(A) V.P.Singh (B) H.D. Deve Gowda

(C) Rajiv Gandhi (D) J.L.Nehru

9 gereiee Tt forerres aTfed fohanm 7o q& R b1 J9H ot i o7 7
(A) <., fog (B) T=.El. cater

(C) Trfia ieft (D) I.Td. 98®

155. Which one of the following is the largest (area-wise) Lok Sabha
Constituency ?
(A) Kachchh (B) Bhilwara (C), Kangra (D) Ladakh
M 5 9 M 91 (§9%d 3TI9R) F68 S AIhad] Hara--&F g ?
(A) =5 (B) ﬁiaalgl (C) =TT (D) <ieqi@

156. Mid-day Meal scheme was started in the year
HEATS TS T 3T T9 AT

(A) 1995 (B) 1997 (C) 1998 (D) 2001
157. The RBI was established on 1% April, 1935 on the recommendation of
(A) Narsimha Commission (B) Khandwal Commission
(C) Hilton Young Commission (D) None of these
RBI <1 T | 3%?1 1935 =l =1 <hT FAwRTICT O 3hT 773 ot
(A) -I{I{-H-SI °hl-||-‘8|-| (B) WedTed HHITH
(C) Taeea am wHiem (D) ¥ ¥ IS &l
158. The Oil and Natural Gas Commission was set-up in
T TUT ITh{ceh 6 STRINT <hl T 9y <1 TS off |
(A) 1950 (B) 1956 (C) 1960 (D) 1966
159. The headquarters of IMF and World Bank are located at
(A) Geneva (B) New York
(C) Washington DC (D) None of these
IMF @1 fored s o JE&aTerd 3aferd &
(A) e (B) ﬁﬁ
(C) @ifdmed DC ¥ (D) ¥ ¥ i T8
160. The loudness of sound is related to its
w‘%y geed (B) pltch (C) amplitude (D) frequency

(A) wfisa (B) ﬁaﬁ (C) 3I™MH (D) g
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161.

162.

163.

164.

165.

166.

167.

The best conductor of heat among the following is

(A) water (B) ether (C) alcohol (D) mercury
71 T & 7 < Faad dTeteh

(A) 5 (B) ¥R (C) Tehlglel (D) I
The image formed by plane mirror is

(A) real

(B) wvirtual

(C) may be virtual or real depending upon the position of the object
(D) None of these
THAA U7 | ST Uffers g 8

(A) drEdfaeh

(B) IAmwrE

(C) 3TER A1 arEafersh 1 Hehdl ], I8 o shi feafa ot fael shtan 2 |
(D) 39 & s T

Principle of Hydrogen Bomb is based on

(A) Nuclear fusion (B) Nuclear fission

(C) Both (A) & (B) (D) None of these

gTSSIS 1 firgra f= w am :

(A) TEhRT T (B) TehI forgs

(C) (A)T (B) T (D) ¥ & HIg &

Radio carbon dating is used to estimate the age of

(A) living trees (B) fossils (C) rocks (D) None of these

g shrea 3 o1 ST i H1 3 Fd i | R ST B
(A) Sffgdgat  (B) Sfarwi  (C) wEgHi (D) 3T & &1 TEl

Combustion of a candle is

(A) chemical change (B) reduction reaction

(C) physical change (D) None of these
HICET T

(A) TR gftEd (B) 3101 SAHISHAT

(C) wiferer aftadH (D) 0 9 His &l

The iron obtained from blast furnace is

(A) Pigiron (B) Wrought iron

(C) Softiron (D) None of these

ST~ § T 1 R -

(A) @l dral (B) fueat et

(C) Tg (D) T8 & IS 7

Number of chromosome in a normal human body cell is

YT HHE IR IRt H AT sht TR

(A) 44 (B) 46 (C) 42 (D) 40

27 Code No. : C-436/2017/Series-A

https://snowstudy.in



168. The milk is transformed in the form of curd due to

(A) lactobacillus (B) yeast
(C) wvirus o (D) None of these
S %1 G8 h &9 H TUCR BT 8 :
(A) AFETHAG o BT (B) WHI s T
(C) feramo] o s (D) 3T | 1 Tl
169. Insulin is secreted by
(A)\ liver (B) gall bladder (C) pancreas (D) None of these

ST <l el Bl 2 - : .
(A) TR F G  (B) eI IS b gRT (C) UTshITH 6 gRI(D) 0 & hig &l

170. Cloves are obtained from which of the following parts of the plant ?

(A) Dried stems (B) Dried flower buds
(C) Dried seeds (D) Dried leaves
ﬁng?ﬁ?ﬁ@%&mﬁmﬁaﬁ% P,
(A) : (B) Erm%@
(C) gE g (D) @&l uf
171. Which team emerged champion of ICC Under-19 World Cup in the year
2016 ?
(A) Australia  (B) WestIndies (C) India (D) South Africa
a9 2016 H ICC 37t 19 fozal sd bl i i & =i sert 3wl ?
(A) ARl (B) s N (C) wRd (D) et JAshieht
172. Which country ended its ‘One Child Policy’ on December 27, 2015 ?
(A) China (B) Germany  (C) France (D) Canada
form ew 7 27 fegwsw, 2015 1 39 “atr—aﬁ?sjqf%lﬁ” AT LG 2
(A) = (B) S (C) W™ (D) TSl
173. Who has been elected new President of FIFA ?
(A) Issa Hayatou (B) Sepp Blatter
(C) Gianni Infantino . (D) None of these
FIFA o 3 37598 %H 94 T & ?
(A) 3H TS (B) U=t
(C) Frem % (D) 0 9 His &l
174. The most recent recipient of Jnanpith Award is
(A) Shankha Ghosh (B) Raghuveer Chaudhary
(C) G. Sankara Kurup (D) None of these
;S TdTS h 3T JTedehd] hiF & 7
(A) @I (B) T =erd)
(C) Sft. vt P&y (D) 8 9 His &l
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175.

176.

177.

178.

179.

180.

181.

182.

Who is the new Chairman of Competition Commission of India ?

(A) Devender Kumar Sikri (B) Ashok Chawla
(C) Veerapa Moily (D) None of these
YT b FTea el STRINT o 931 <RI i & 7

(A) Co=el PAR Frplt (B) 31T =rarett
(C) e Figeft (D) 5 ¥ &I T&

Who was the founder of Mandi State ?

(A) Ban Sen (B) Sur Sen (C) Bir Sen (D) Ajbar Sen
Tt TS <1 TEATYh hid T 7

(A) ST (B) I (C) sRam (D) 3TS&X T

Jahangir invaded Nurpur in

SRR A TR | 3TshRA0T foha &

(A) 1620 (B) 1622 (C) 1624 (D) 1625

What is the total area of Himachal Pradesh ?

(A) 55073 sq. km (B) 55373 sq. km

(C) 55673 sq. km (D) None of these
T 1 S &AB (a1 § 7

(A) 55073 ot feret (B) 55373 =t feprft

(C) 55673 =t ferrft (D) 394 9 HIg Tl

Which lake is the biggest natural lake of Himachal Pradesh ?

(A) Govind Sagar (B) Rewalsar

C) Renuka (D) None of these

Sli’srﬁ hIF 1 3T qad St TR e & ?

(A) Tfamg (B) M@Tew .

©) iaw (D) ¥ ¥ 1S Tl

Ancient name of river Yamuna is

(A) Kalindi (B) [Iravati (C) Sutudri (D) Bipasa

YT ¢} T I A1 R -

(A) BT (B) el ©) T (D) faraman

The ancient capital of Chamba was

(A) Tisa (B) Dalhousie (C) Bharmour (D) None of these
ELEIEIRISIERIE RIS . ’
(A) T (B) SoTgmi (C) WHR (D) ¥ 9 s &l
Which is the state tree of Himachal Pradesh ?

A) Deodar (B) Mango (C) Apple (D) None of these
W%TIWF! TG 1 T &I A AT 7 . .
(A) CIER (B) 3 C) T (D) T & 1S A&l
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183. The Chail Cricket Stadium is located in which district of Himachal Pradesh ?
(A) Shimla (B) Solan (C) Kullu (D) Kangra
<t fopehe e e Tem S fra i i 2 7
(A) femet (B) HIeH (©) F (D) it

184. Alexander reached the banks of which river of Himachal Pradesh with his

troops ?
(A) Satlyj (B) Chenab (C) Beas (D) Yamuna
Tepet 319t 8= Zopfeal & Ty feuraret w6t fopm =<t & e WX ugs ot ?
(A) Fags (B) Tt (C) =4 (D) g
185. Kamru was the ancient name of
(A) Mandi (B) Kinnaur (C) Kangra (D) None of these

ShTHE YT AT o7 :

(A) T H (B) fp=iRer  (C) HIEIs (D) 398 9 His A&l

186. If ‘CEG’ is written as ‘TSR’ and ‘FHJ’ is written as ‘QPO’, then ‘IKM’ is
written as .
gfe ‘CEG’ &1 ‘TSR’ fot@n Srw qem ‘FHY’ &1 ‘QPO’ for@n Se, at ‘IKM” b
ot SITE -
(A) NML (B) NOP (C) PON (D) MLK

187. If water is called food, food is called tree, tree is called sky, sky is called
wall, then tell from where do we get fruits or from where it is produced ?
(A) Water (B) Tree (C) Sky (D) Wall
[ ST 1 HISH HEl ST, HISH ol J& el 1Y, J&T ! HATHI HET S, IR
! SIIR hET AT, o 9d13T foh BH %ol hal & I hid %mﬁw"ﬁﬁa‘éﬁ% ?

(A) 9@ (B) 34 (C) FTehr (D) Q&R

188. If the numbers from 6 to 57, all the numbers which are divisible by 6 are
removed then how many numbers will be left ?

6 57 T hl TSI H § o Gt T SN 6 9 w9y g ! FHehret feam s ar
fopat T =Y @ STah ¢
(A) 41 (B) 43 (C) 45 (D) 47

189. A man said to a woman, “Your brother’s only sister is my mother”. What is
the relation of the woman with the maternal grandmother of that man ?

(A) Daughter (B) Sister (C) Mother (D) Niece

T e + ToRet Bt ¥ gl — “TRN TS i Sohalld! aad B AT 8 | — 39 &l
&Y <hl A1 % WY FTEFEY ] 7

(A) T (B) &t (C) Hran (D) wetsft
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190. In a line of boys, Raman is 14" from the right and 13" from the left, what is
the total number of boys ?

(A) 27 B) 28_ - (©) 26 (D) None of these
ASehi hl Teh haR § W G H 143 T IR H 139 TIF W & | ASehi ol el
TR HRTE ? :

(A) 27 (B) 28 (C) 26 (D) ¥ ¥ s &l

Directions (Q. 191 to 193) : Choose the appropriate preposition out of four
words marked as (A), (B), (C) and (D) to fill in the blanks.

191. A girl with blue eyes has just gone the door.

(A) beside (B) through (C) off (D) in
192. The college term will end a month.

(A) after (B) afterabout (C) in (D) with
193. This godown is infested rats.

(A) about (B) of (C) in (D) with

Directions (Q. 194 & 195) : In the following sentences, choose the alternative
which best expresses the meaning of the underlined word.

194. The authorities seem to be callous concerning the condition of workers.
(A) ignorant (B) insensitive (C) responsible (D) liberal

195. If one aids and abets a criminal, he is also considered culpable.
(A) blameworthy (B) ruthless (C) suspicious (D) guilty

196. ‘SI9’ Iec h1 YA &l 2

(A) IS (B) A (C) Uy (D) Hh
197. ‘ARI-<f T gaTa 1 37 3

(A) A i (B) ST &M

(C) <Al §AT 1 Swg HEAT (D) RIY T

198. ‘St SfersTT W <Rl T Hacdt B’ o fofq wh wreq B
(A) 3nfise (B) e (C) 3IWISH (D) 3T

199. ‘Fqq@’ H S 1 UH g ?
(A) wgfie  (B) &% (C) Tz (D) e

200. I &G gHT:
(A) <fee (B) <& (C) <& (D) dfewh
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